FR295EE BRXRE
4 = ()
XHABR XHRS X % X%
4H8H 28 |ARMPTAESS BES 5,500
4R814H =& |RMT/NPRESEEIE 14,000
4R25H 28 (BRER=IMEREZENERBR4BHERE) 28,000
4R 28H B TMREBECEXHR(GTEEBLRESSEE) KTH 5,000
i (4 #) 52,500
5 = ()
XHAR XHRS X 4 XHERE
5A1H B |MBEIERXHR HEH 5,000
58118 2E |[EFERMXERFEBRUTRXMEHRRERUVBHRS 7,000
5812H 2E ([REHRERRAXE BHR= 5,000
58198 2% |(AIRTMEREEOBR HFEBH= 6,000
58298 2E (AIRBIKEMBHRS 5,000
5A31H =28 |(AAIRMEEEDRESERRBR 5,000
i (6 #) 33,000
8 = ()
XA XHERS X 4 XHEEE
6A58 B |[MBEZERXHk pEH 5,000
6A208 BE |[TRECHEHK HEFH 5,000
i (2 #®) 10,000
1A XHAT (M)
XHAH XHES
7818H B | RMEREE HTFH 5,000
i1 #) 5,000
98 FXHAE (F)

XHAH XHRES

9H22H REV (AIRMEREE BREV 10,000

1) 10,000

10 = (FD)
XHABR XHRS XA e

10H3H =& |BEZEHLI= 6,000

10A5H =8 |[GRREFERES ERXBEHE 10,000

i (2 #) 16,000




FR29EE BRIRE

11 =

(M)
XHABR XHRS X A X%
11A17H 28 |REEEFERKEXERTAH 10,000
11A22H 2% |[BEOBETMAIEEHRS 6,000
i (2 #®) 16,000
12 B (M)
XA XHERS
12A7H = AIRMEREES: BERRER 5,000
i 1 ) 5,000
1A ZHRE (M)
XHAH XHES
1898 = AIRTERFXESR ERXBRGRIAHRE) 15,000
1A118 = ITXAMFFEREILE 10,000
1H12H = — it FE AT EREM 10,000
18128 B |MEREE CBEHK FTH 5,000
1H19H = ARERXEHEHFEILE 5,000
1H22H = EHNATYVIIRBEBEMETIR 3,000
18308 = FEAEKERZENER 6,000
i 7 #®) 54,000
2 = ()
XHEAE XHERS XA X &%
2A4A8 2E |(AMREMEMESFIER 5,000
2A16H BE | TREREFEE BTH 5,000

i (2 #) 10,000




